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QUESTION 1

What is the default return value for a function that does not explicitly return any value?
A. void

B. Null

C. public

D. None

E. int

Correct Answer: D

QUESTION 2

The 0o pre x means that the number after it is denoted as:
A. decimal

B. binary

C. hexadecimal

D. octal

Correct Answer: D

QUESTION 3

Take a look at the snippet and choose the true statement:

nums [1, 2, 3]

vals = nums

del wvals[:]

A. vals is longer than nums

B. nums is longer than vals

C. nums and vals have the same length
D. The snippet will cause a runtime error.

Correct Answer: C
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QUESTION 4

An assertion can be used to:

A. Stop the program when some data have improper values.
B. Import a module.

C. Make the Programmer more assertive.

Correct Answer: A

QUESTION 5

What is the expected output of the following code?

def funcl(a):

return a *¥** g

def func2(a):
# return funcl(a) * funcl(a)
# return (a ** a) * (a ** a)
# return (2 ** 2) * (2 ** 32)
# return 4 ¥ 4

return 16

print(func2(2)) # 16

A 4

B. The code is erroneous.
C.2

D. 16

Correct Answer: D
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